Sandhi Exercises

%, TR = U + eI (TH JUI)
. UEHATAT = W + ST (S0 quif=r)
3. IGENTHAH = Y+ INHAH (ST JUIT, 3T <, A ST23120)
. i = ﬁé+m&§ﬁm®'
. OIE: = o + 3ITaw: (ST AUIT)
€ FAY: = FG + MY: (3R JuT)
9. 3[fUaed = U + 337
¢. FHATIH = HAT + A
% &N = o + &R

o. fUmefar = fuq + sreflam
QQ.W o + SrEr
2. AT = Al +
R3.TCR: = o + 3MI:

%.4Tedd = o + Taq
QU AT = & +37TeT
Re.TEY = B + ey

R, THATCI: = T + 3T
R¢.FE = q + 3@
R EHER = @ + TR

R0.TqH = T + 3F
AN = T + 3N
RR.ITIHT: = e + I Ha:
R3. WA = O + MR

RY. qAaEgel: = JI99 + T

II

. By + argw = RrugH
I + 3cHST: = HATHST:

?. 2RI + AT = Rgfead
R. foeag + wAq = e
3. AT + I = AT

¥, €TF + 3N = &TaTeaT:
Y. U + Taq = Uraaq

& o + AFH = IFH

9

¢.




% UM + TAq = Uraq

0. TfA + 3MeFM: = THARI:

?2. 3T + 3MCRT: = TR
R.fUq + et = fow=f

?3. 91T + TAdq = TAq

2%, + AAAN: = FLAIUA:
2. Y + IMRISRI = YIRS
R€. Tl + e = TAat

0.3 + IZT: = IHY:
¢ + T = T

22.°Y + ICTEN: = TLATTZ:

Ro. 9] + 3MfEd = g&afd
RUYMT + 3h: = YT:

RR.T[A + I = T

R + AFT = TIFT

R¥%. i+ I = o
RU.TAY + I = SASTHI

RETT + I = AT




